APPLICATION FOR PARTIAL PAYMENT OF CONTRACT

	Project Title	:	NW Northla	wn Area Utilit	y Improveme	nts- Phase	2	
city of 1	Contractor:			Snyder & Associates, Inc.				
Ankeny	Address:	272	7 SW Snyde	r Blvd., PO B	ox 1159, Ank	eny, IA 500)23	
Very pergorall together					nce Project (Code: _ 33	3 1/3% to each acct	
		10; 650.3650.42			10.4210; 650.	4210; 963	4210	
		ect or Invoice t				#		
	Original Cor	ntract Date:	June 7	7, 2021	_ Vendo	r#	990	
Date of Council Meeting	5/1/20	23		p	AYMENT RE	OUEST#	13	
_		MENT PERIOD:	From:			h:		
							0 11 10/20	
Contract Summary								
Original Contract Amount:		\$	54,900.00					
Net change by Change Orders:	Amd #1	\$	43,500.00					
Contract Amount to Date: (line 1	± 2)			\$	98,400.00	,		
Total completed and stored to d	late:	\$	59,322.64					
Retainage:0 % of Con	npleted Work:	\$	-					
Total Earned less Retainage:				\$	62,116.25			
Less previous applications for p	ayment:			\$	59,322.64			
SUBTOTAL						\$	2,793.61	
OTHER CHARGES (Please attack	h an itemized list)				1	\$	-	
CURRENT PAYMENT DUE						\$	2,793.61	
					£*			
Balance to finish, including retain	inage:			\$	36,283.75			
Contract Time Remaining (If app	licable)		•					
The condessioned Ocation to a different back to								
The undersigned Contractor certifies that to t accordance with the Contract Documents, the received from the Owner, and that current pa	at all the amounts hav	e been paid by the Co	mation and belief ntractor for work	for which previous	by this Application in Certificate(s) for Pa	for Payment ha ayment were is	s been completed in sued and payments	
Construction Contractor Approv		s now due.						
Construction Contractor Approv	Firm Name							
Signature						Date		
Engineer/Consultant Approval:	Snyder & Ass	sociates, Inc.						
12 W 1/21	(MA ()					11.	122	
Signature	1/1	1	Te. 2			Date	4/23	
City of Ankeny Staff Approval	Motter	1 Jan	1			4//19	1/2023	
Signature		0				Date		
Submit to:								
Email:		Dh	2001	1	Ea			
Linali.		Pho	one:		Fax:			

APPLICATION FOR PARTIAL PAYMENT OF CONTRACT

#	Date	 Amount		#	Date	Amount	Record	of Change Orders		
	7/22/2021	\$ 6,008.00		51			_ #	Date		Amount
	8/25/2021	\$ 9,378.00		52			1	2/20/202	3 S	43,500.00
_	9/21/2021	\$ 9,568.84		56			_ 2			
	10/20/2021	\$ 4,811.86		54			_ 3			
_	5/25/2022	\$ 1,344.25		55			_ 4			
3	6/22/2022	\$ 3,102.25		56			_ 5 —			
7	10/25/2022	\$ 7,579.00		57			_ 6 _			
3	11/22/2022	\$ 7,683.89		58			- 7 -			
9	12/21/2022	\$ 2,289.50		59			_ 8 _			
0	1/25/2023	\$ 2,710.50		60			_ 9			
1	2/22/2023	\$ 2,391.55		61			_ 10			
2	3/22/2023	\$ 2,455.00		62						
3				63			_ 12			
4				64			13			
5				65			_ 14			
6				66			_ 15			
7				67			16			
8				68			_ 17			
9				69			_ 18			
0				70 —			_ 19			
1				71			_ 20			
2 _				72				TAL	\$	43,500.0
3 _				73					<u> </u>	10,000.0
4 -			8	74			-			
5 —				75 —			_			
6				76			Contrac	t Time Remaining:		
7 —		 		77 -				ACT PERIOD:	CLICE	TO CHOOS
8				78 —				Contract Date:	CLICA	
9 -				79 —				Contract Time:		June 7, 202
0 -				80 -				y Change Order:		
1 —		 	9	81 -				Time to Date:		
2				82 -				ed to Date:		
3 —				83 —				Time Remaining:		
4 -				84 —			_ Contract	Time Remaining.		
5 —		 		85 —			_			
6 —		-		86 —			-			
7 —				87 —			_			
8 —				88 —			-			
₉ —				89 —			-			
ŏ —		 		90 —			-			
ĭ —				91 —			_			
2 —		 		92 —			_			
$\frac{2}{3}$ —		 		93 —			_			
4 —		 		94 —			_			
5 —				95 —			-			
₆ —			2	96 —			-			
, –		 		97 —			_			
₈ —				98 —			_			8
₉ —							_			
<u> </u>		 		99 _			_			
				100						



April 18, 2023

Mr. Matt Grgurich City of Ankeny 1210 NW Prairie Ridge Drive Ankeny, Iowa 50023

RE:

NW NORTHLAWN AREA UTILITY IMPROVEMENTS - PHASE 2

PROGRESS REPORT NO. 13 S&A PROJECT NO. 119.0975.01B

Dear Mr. Grgurich:

This is the thirteenth progress report for the above referenced project and covers work through April 16, 2023. Our work through this period includes utility coordination, responding to the Contractor's questions, construction staking, and meeting with a property owner and City Staff on March 27, 2023. Construction has commenced and we are prepared to provide any assistance requested from the City, and will continue to perform construction staking.

We look forward to continuing working for the City and you on this important project. Should you have any questions on this update, please feel free to contact me. We will attend the May 1, 2023, council meeting to answer any questions regarding this invoice.

Sincerely,

SNYDER & ASSOCIATES, INC.

P.P. Jb w. Alder

Mark A. Land, P.E., CFM

Vice President

Enclosures

cc:

Jordan Stoermer, P.E., Snyder & Associates, Inc. John Haldeman, P.E., Snyder & Associates, Inc.



IOWA | MISSOURI | NEBRASKA | SOUTH DAKOTA | WISCONSIN

INVOICE FOR PROFESSIONAL SERVICES

April 18, 2023

Matt Grgurich City of Ankeny 1210 NW Prairie Ridge Dr Ankeny, IA 50023-1751

Invoice No:

119.0975.01B - 13

Finance Budget Code 610.3610.4210/650.3650.4210/963.3963.4210

Finance Project Code 610.4210/650.4210/963.4210

Vendor 990

Email

Project

119.0975.01B

NW Northlawn Area Utility Improvements Phase 2

Professional Services through April 16, 2023

	Phase S	0.00								
Construction Services										
Hours	Rate	Amount								
4.00	192.00	768.00								
1.50	173.00	259.50								
11.50	108.00	1,242.00								
7.00	73.00	511.00								
24.00		2,780.50								
			2,780.50							
			13.11							
	Phase Subtotal		\$2,793.61							
Current	Prior	To-Date								
2,793.61	59,322.64	62,116.25								
4*00000001004 80	oman or•menteen 100% = . 13									
	4.00 1.50 11.50 7.00 24.00	Hours Rate 4.00 192.00 1.50 173.00 11.50 108.00 7.00 73.00 24.00 Phase S	4.00 192.00 768.00 1.50 173.00 259.50 11.50 108.00 1,242.00 7.00 73.00 511.00 24.00 2,780.50 Phase Subtotal Current Prior To-Date							

Amount Due this Invoice _

\$2,793.61

Billings to Date

Total 62,116.25

Prior 59,322.64 Current 2,793.61

Thank you. We appreciate the opportunity to serve you.

Accounts Receivable Inquiry: ar@snyder-associates.com

Project Manager: Jordan Stoermer

REMIT TO: SNYDER & ASSOCIATES, INC.

Mailing: PO Box 1159 | Ankeny, IA 50021 Physical: 2727 SW Snyder Blvd. | Ankeny IA 50023 p: 888-964-2020 | f: 515-964-7938

Federal E.I.N. 42-1379015 SNYDER-ASSOCIATES.COM